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Instructions for Candidates

. Write your Roll No. on the top immediately on receipt

of this question paper.
2. Attempt Any Four questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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Explain Social Inequality. Discuss the interconnections
between Caste and Class in India.
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wE i FdeEy ) e i

Discuss the impact of Globalization on Adivasis and
Peasants with suitable examples.
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What do you understand by Human Rights? Discuss

the various provisions in the Constitution of India that
protect Human Rights,
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Analyse relevance of human rights of the marginalised

groups in India.
WE @ ded A Feuweds e & AW AR B Aee w5
favemm S |

5. What 1s Patriarchy? Analyse the structures that

strengthen Patriarchy in India.

e @1 2 7 wra ¥ fagan womg w5 9l G o
faseivor Fif |

6.  Write an essay on the contributions of Women's
Movement in India.

mﬁmmawwwﬁwm.

7. ‘Environmental protection is inevitable for Sustainable
Development of society’. Discuss.

Wﬁwﬁﬁ?wﬁmﬁmaﬁaﬁﬁl
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8. Write short notes on Any Two of the following :

Feafofaa ¥ & fadl @ we afera feoft forfag -

(a) Consumer Rights

ITEar sifteR

(b) Impact of Economic Development on Women

aest wosnfe fwm @ yaE
(c) Global Warming

ST SR
(d) Environmental Movement in India

IR ¥ 9EeRmT 3eree
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. All questions are compulsory.

3. The paper has two parts, A and B. Three questions

have to be attempted from each part.

PART A

Answer any THREE of the following questions in about
200 words each. Give suitable examples to illustrate

your answers. Each question carries 10 marks.
(3x10=30)

P.T.O.
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I.
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What is academic writing? Explain with reference to

audience, purpose and occasion.

Do vou think style, tone and language conventions are

important in academic writing? Explain with suitable

examples.

Compare and contrast the skills of synthesis and
analysis in academic writing and discuss how these

critical thinking skills are essential for effective

writing.

What are citations? Why are they important in ar

academic essay?

What is the difference between summary an
paraphrase? Where would you be required to do eithe

in the process of academic writing?

PART B :
b

Answer any THREE of the following questions. Ea
question carries 15 marks. (3x15=¢ .
CC
as

Write a summary of the following article and g1V
a suitable title. (1243= do
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Climate 1S sometimes mistaken for weather. B

climate 18 different from weather because 1t 1S

er a long period of time, whereas weather

day to day, or from year to year.

measured ov

can change from

The climate of an area includes seasonal temperature

and rainfall averages, and wind patterns. Different

places have different climates. A desert, for example,
is referred to as an arid climate because there are
few waterfalls. such as rain or snow, during the year.
Other types of climate include tropical climates, which
are hot and humid, and temperate climates, which

have warm summers and colder winters.

Climate change is the long-term alteration of
temperature and typical weather patterns in a place.
Climate change could refer to a particular location or
the planet as a whole. Climate change may cause
weather patterns to be less predictable. These
unexpected weather patterns can make it difficult to
maintain and grow crops in regions that rely on farming
because expected temperature and rainfall levels can
no longer be relied on. Climate change has also been
connected with other damaging weather events such

as more frequent and more intense hurricanes, floods,

downpours, and winter storms.

P.T.0,
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In polar regions, the warming global temperatures
associated with climate change have meant ice sheets
and glaciers are melting at an accelerated rate from
season to season. This contributes to sea levels rising
in different regions of the planet. Together with
expanding ocean waters due to rising temperatures,
the resulting rise in sea level has begun to
damage coastlines as a result of increased flooding

and erosion.

The cause of current climate change is largely human
activity, like burning fossil fuels, like natural gas, oil,
and coal. Burning these materials releases what are
called greenhouse gases into Earth’s atmosphere.
There, these gases trap heat from the sun’s rays inside
the atmosphere causing Earth’s average temperature
to rise. This rise in the planet’s temperature is called
global warming. The warming of the planet impacts
local and regional climates. Throughout Earth’s history,
climate has continually changed. When occurring
naturally, this is a slow Process that has taken place
over hundreds and thousands of years. The human
influenced climate change that is happening now is

occurring at a much faster rate,
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7 The following is the Introduction to an essay, Read it
carefully and continue the essay, writing two body
pnrngrnphS and a suitable conclusion, (Ix5=15)

Online education is o flexible instructional delivery
system that cncumpnﬁacs any kind of learning that
takes place via the Internet. Online learning gives
educators an opportunity 1o reach students who may
not be able to enroll in a traditional classroom course
and supports students who need to work on their own
schedule and at their own pace. The quantity of
distance learning and online degrees in most disciplines
is large and increasing rapidly. Schools and institutions
that offer online learning are also increasing in number.
Students pursuing degrees via the online approach must
be selective to ensure that their coursework is done

through a respected and credentialed institution.

§. Write an essay on the following Thesis Statement.

(15)

“Photoshopped and unrealistic images are leading to
body dysmorphia and eating disorders in the young.”

9. Edit and proofrcad the following passage and then

rewrite it, incorp'orating all the corrections.
(10+5=l 5)

P.T.0.
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10.

6

One type of explanationr‘- for the rising divorce has

focused on change in laws relating to marriage. Many

peoples argue that increased rates of divorce do not

necesarily indicates that family are now more unstable,

they claim, that there has always been a degree of
marital instability. They suggests that changes in law
has been significant, because they has provided
unhappily married couples with ‘access to a legal
solution to pre-existent marital problems’ (Bitton et
al. He believe that changes in divorce rates can be
best explained in term of changes in the legal system.
Problem with this type of explanation however is that
it does not consider why these laws have changed in
the first places. It could be argued that reform to
family law, as well as a increased rate of divorce that
has accompanied them, is products of more

fundamental changes in society.

Create a bibliography using the following resources.
First use a citation convention to rewrite the details
of each source and then arrange the five sources in

the correct sequence, (10+5=15)

S—
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heing Heard that wgsg Published ip the year 2008

Copenhagen Busine ! .
by p g €8s Schoo) Press i

Copenhagen,

Baby Haidar’s book A Life Less Ordinary was
published in the: year 2006 by Zubaan books in
New Delhi

Jhumpa Lahiri’s short story collection that won
the Pulitzer. Prize for fiction, Interpreter of
Maladies, was published in 1999 by Houghton
Mifflin in New York

The essay Who am | by Alex Brian as part of the
collection Searching for Identity edited by Jack
Sock, David Young and Liz Brien was published
in the year 2013 by Palgrave Macmillan in New
York and was printed in pages 15-20 in the

collection.

Romila Thapar published an important essay The
History Debate and School Textbooks in India: A
Personal Memoir in the November 2016 edition of
the History Workshop Journal published by the

Oxford University Press: It was a Virtual issue
on South Asian Histories edited by Yasmin Khan

and Andrew Whitehead, accessed on 27 March

BT L.



3807 8

2017. Online ISSN 1477-4569. URL for the issue.

https:,f.facademic.oup.com/hwjfpages/southasia_
URL for the essay:

https:,-’/academic.oup;eomfhwj/article/67/1/37/

8640941The—History—Debate-and_-Schoo I-Textbooks-ip.
India-a
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Sr. No. of Question Paper : 3830 A
Unique Paper Code : 62315620
Name of the Paper . Delhi through the Ages
Name of the Course . B.A. Programme — GE
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Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.
2. Attempt FIVE questions in all.

3. Al questions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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Examine the literary and archaeological sources

available for the study of Indraprastha.

TR @ IeEET & o Suee wiftfas v qoaras wey
T IAHT FHifo |

Analyze the role played by any one of the following
in the development of the Sultanate capital of Delhi:
(a) Tughlaqabad, (b) Feroz Shah Kotla

ﬁﬁmmﬁ%ﬁmﬁﬁwﬁﬁaﬁﬁ%ﬁﬁw
2R I s T Redtew o () e, ()
frst o8 wreen

What were the factors that shaped the developments
in the cityscape of Delhi in the 13th-14th centuries?

13ﬁ—l4ﬁmﬁﬁaﬁ$mﬂv@nﬁﬁmaﬁm
T AN TR wT Y A7
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4.

Explain how socio-political changes in the nineteenth

century influenced Ghalib’s life.

gare & I=ad a@ N wenforer - aoEfar afad=s F mia
%Gﬂﬂ?‘ﬂﬂ!ﬁimﬂﬁﬂml

Discuss the uprising of 1857 in the context of Delhi

and how the British Govt. was successful to recapture

Delhi.
et @ "= X 1857 @ fage o fReen Aife sk fea,
var Aty waRr Rl W g @R & # 9 @ )

Discuss the ideological basis of New imperial city
that was constructed by the British between 1815-

1933.

1815-1933 & & SN gRT ST Y AT WA T H A
FUR W T | '

How did partition riots impact Delhi?

Ay @ @ X Red @ @ il o

Write an essay on the development of the University

of Delhi.

2.T.O.
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9. Examine the transformation of Delhi transform from

colonial to the contemporary times?

feestt situfafier ¥ wwwnie wwg ¥ 99 oRafda g57?

10. Describe the economic and cultural life of Delhi in
19™ and 20™ century.

1991 3R 208w ¥ oeeht & e ok Wl e @
U Y |

(1400)
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6.

Udl
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Instructions for Candidates

Write your Roll No. on the top immediately on receipt
of this question paper.

Attempt any four questions.

3. Answers may be written either in English or Hindi;
but the same medium should be used throughout the
paper.
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1. (a) How can National Savings, Private Savings and
Government Savings be calculated? What will

happen if government deficit increases?

(b) What precautions should be kept in mind while

calculating national income?

(¢) What is GDP deflator? How is it different from
consumer price index? How does CPI inflation

overstate the increases in cost of living?

(d) With the help of data given below, calculate the
rate of inflation for each year from 2014 to 2017,

considering 2013 as base :

Year | 2013 2014 | 2015 2016 | 2017

CPl 600 615 650 645 660

(5.75,4,5,4)

(3r) T Tw, Aol =9 3R W a9d &t e fe
F O gl 87 GLGHIA HIET W@ G Al BN 7

(@) T s it T F g T aEea @ oo
¥ wa =Ry’
(|) <iendt Ruerex ar 7 g8 I Iod queEs o R

yR T 27 ddtand FErefa steame & @ |
afe @ B T 3@ 27



2. (a) How 1s the rate of interest determined by the
demand and supply of money (assuming no banks
in economy)? What happens to the interest rate
3 i

(i) Nominal income falls

(ii) Central bank chooses for expansionary
open market operation.

(b) “What are determined in bond markets are not
interest rates, but bond prices. In this context
distinguish between expansionary and contractionary
open market operations. How do they affect the

balance sheet of central bank and bond prices and
interest rates?

(c) The following financial market data is given for

an economy (in rupees): Currency = 5000;
Reserves = 1000; Deposits = 10000.

PO,
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| (i) Calculate size of money multiplier
(i1) Monetary Base

(i11)) Money Supply (7:0:5.75)

(37) ar &t W ok amyfd (arfegaen ¥ w1 ¥F 7 A=A
BU) 1 =W & W w PAuRa & ot 27 =1 =

fere fear mm 2wy = 5000; RS1¥ = 1000; s =
10000 |

(i) #fEw smem

(iii) a1 smqfed
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(i) Calculate size of money multiplier

(1) Monetary Base

(111) Money Supply (7.6.5.75)

(&) &1 &t w7 Sk sl (Srdegae ¥ #1 d% G8 R
V) 50 = #it X A FAulRa # w27 =\ =
T 341 BhT Ol -

(i) =FEm &t s i 2
(ii) ﬁa%mﬁ@mﬁw%m
g7 2

@) "F= TR ¥ S FRe R w2 9w e @ 58
ﬁﬁ,aﬁmaﬁaﬁmﬁfﬁ?ﬁ?lwﬁﬁﬁm
@TW@W%m%ﬁamﬁ,
%%ﬁn%a&%ﬁhsﬂtaﬂtmaﬁ_aﬁwﬁaﬂtm
T T B R T

(/) ﬁmﬁfaaﬁﬁam%awaﬁmm (T2 %) &
mﬁmw%:w=5ono;ﬁa€r = 1000; w1 =

10000 |

(i) o T 2 s o men oy
(i) e+ smem

(i) 71 smaf
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(a) Explain the concept and causes of Hyperinflation?

3.
Suggest policies that the government can use to

control Hyperinflation,

(b) Comment on the following statements. Justify your

answer.

(i) The Inflation Tax is always equal to

seigniorage.

(11) An increase in the rate of interest leads to

an increase in the price of bonds.

(c) Calculate the money growth rate required to
finance the budget deficit of Rs. 10000 in an
economy. Given the following information :

Income (Y) = Rs. 1,00,000
Nominal Money Supply (M) = Rs. 80000
Price Level (P) = Rs. 20 (7,6,5.75)

(F) BETERTT it FAURT 3R wROY Wt e w7
I oAl 1 gama ¥ Forent IwanT wWER eEwER
& Fafm w3 @ fr #= g S 2

(@) P ol w Reamfh a1 s wram @
W g =

P.T.O.
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(i) HEwdifa & i seigniorage @ AR BT 3
(ii) wwﬁ'gﬁﬁm@’aﬂﬁwﬁq@ﬁeﬁ%:
(8) v srfegaeer ¥ 10000 &9 & a5ie We @ faredmo

%%qmmﬁ.waﬁmmﬁlﬁwm
amnﬂm’r%zaﬁg:

Sa(Y) = % 1,00,000
EEE 87 s (M) = % 80000

T\ ®R (P) =% 20

(a) In the Classical Model, an autonomous decline ip
investment leads to a fall in the overall demand in
the economy:. Explain, with the help of a diagram,
whether youy agree or disagree,

(b) How is the labour demand curve derived under
classical mode]? (10,8.5)
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5 (a) Examine the impact of a contractionary fiscal

policy on outpul & interest rate under two

assumptions :
(i) Interest rates are kept constant

(11) Money stock is kept constant

(b) What is liquidity trap? Is monetary policy

ineffective in this case?

(c) Explain why the income tax system or social
security system are considered automatic

stabilizers?

(d) Consider the following Keynesian model:

Suppose full employment output (Y*) = 1000,
Actual Output (Y) = 1100, Government purchase
of goods ai;d services (G) = 200, Transfers
(Tr) = 20 and Taxes = 0.20Y. Compute (1) Actual
Budget Surplus and (ii) full employment budget
SU{plus. (7,3,4,4.5)

() 2 w=renall @ qEd Jeed IR AN W W TF R
ToEE Afq & g @ o

P.T.O.
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(d) Given the following information :
Consumption C = 100 + 0.75Yd
Investment 1 = 200 — 81
Government Spending G = 150
Tax T = 0.2Y

Money Supply M = 400
Real Demand for Money L = 0.4Y — 2i

(i) Compute the IS and LM functions and
equilibrium level of income and rate of

interest.

(i) If the government spending increases by
50, explain the changes in the IS curve

with the help of the multiplier formula.
' (6,4,4,4.5)

(%) wﬁﬁﬁ%ﬁm%wmaﬁﬁwﬁﬂ
e 27 [S.LM Frmarwer @ wAn e §Y Ewee
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@) eafafas WEE # 2Ed 89
s C = 100 + 0.75Yd
Bw =200 — 8i
T @d G = 150
& T =02Y
qw@ o M =400
W aEE w L = 0.4Y - 2

(i) IS s LM #fl 3k o/ & ¥ge wv o
S T H A R

(i) uﬁamﬂmﬁsoﬁg%aﬁ%,a’rw
T W XIS 7w X B A uRam
R FHifs)

(200)
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Your Roll No...............
Sr. No. of Question Paper : 1975 A
Unique Paper Code 12555261
Name of the Paper : Obesity Management
Name of the Course : Hons. Courses Physical

Education (GE)
Semester : II (2022)

Duration : 3 Hours 30 Minutes Maximum Marks : 50

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt any five questions. All questions carry equal
marks.

3. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.

BE & fog Fem
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2. foredl dfer yoell & IR AR | AW v R s a2

3. F9 WO - 9T 6 IR Ador a1 B R v Tt 3 i, St
T ITR T AN U B BT TR |

1. What do you understand by obesity? Explain various

causes of obesity.

T & AT F 1 G B 7 Wen @ Rl Frol 9% =
HIY |,

2. Which health risk are associated with obesity? Write
in detail.

HIT § W@ Wi A ¥ 92?7 faww R

3. Explain various methods of assessment of obesity.

A & o &t A (At & s e it

Define nutrition. Explain various nutrients.

A & e @t RAfter Rt &t =amen $ifm |
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9.

: el n | ke and
Differentiate between dietary aids and glmmicks
i

describe the role of dietary alds.
At 3 o ¥ A T Afore 3 3R wrr
HER :

aﬁgﬁmmaﬂhaﬁ’rﬁiﬁl

Write a detailed note on obesity and weight

management through diet.

e @ e A Ao AR aee wEe ) e o
e |

Discuss the importance of maintaining health weight
in our life.

BN OET ¥ @R g9 §9Y @ & d8cd 9 o9l e |

What 1s energy balance? Why is it important to
maintain energy balance?

Fofl A B 7 Sl e S T ) Aeeaqet @ 7
Elaborate the principles of weight management.

oo yEed & el @ few ¥ avi wy

B.LL
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10, Explain the role of behaviour modification techniques

in weight ma nagement.

mnaﬁ##mmtmwmqﬁ%?ﬁa

&1
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Your Roll NO.«awsrane
Sr. No. of Question Paper : 3812 A
Unique Paper Code : 62035924
Name of the Paper : Readings on Indian Diversities

and Literary Movements
Name of the Course - Generic Elective
Semester - VI

Duration : 3 hours and 30 minutes Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. This paper has two parts, both of which are
compulsory. Attempt three questions from each of
Part A and Part B.

PART A

Attempt any Three of the following : (3x10=30)

1. Comment critically on the following lines after

identifying the poem and poet :

P.T.0.
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“I cannot touch

The shadow of your wing.
[ will be born

again, and again.

As a devil,

A ghost,

As Kali

As Isaki.

As the vengeful furies

I will terrorize you and follow you.”

2. Comment on Amrit Rai’s sociolinguistic Inquiry into
the origins of Hindi/Hindavi.

3. Comment critically on the following lines after
identifying the poem and poet :

“And I am not the only one

Working for her
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She has many servants

Ever ready to do her bidding

That Shahni is my mother tongue”

4 Examine Mahadevi Akka's Vachana as a poem of

protest.

Write a note on Dalit Literature.

Ln

PART B (3x15=45)

6. Do you think that Bhakti and Sufi traditions rebel
against the anti-human ideologies of feudalistic

society? Discuss and substantiate your answer from

your readings of these poets.

7. Explain in detail the conflict of power between Hindi

and English in Raghubir Sahay’s Poem “Hindi.”

8. “Ramayana is a misnomer for our narrative. It should
» "

have been called ‘Sitayana’.” Do you agree with the

statement? Discuss.

P.T.O.
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9.

10,

Dalit Voices deal with issues of discrimination and
-y

alienation experienced by the community? Elaborate

giving specific references from the readings

prescribed.

Discuss how the three tribal poems on birth, death
and illness bring out the unconventional way of linking
these biological processes with the natural and spiritual

world.

(700)



[This question paper contains 4 printed pages.]

Your Roll No...............
Sr. No. of Question Paper : 3810 A
Unique Paper Code : 62035922
Name of the Paper : Generic Elective, Contemporary

India;: Women and

Name of the Course . ENGLISH

Semester . VI

Duration : 3 hours and 30 minutes Maximum Marks : 75

Instructions for Candidates

L.

o

Write your Roll No. on the top immediately on receipt
of this question paper.

Part A and Part B are both compulsory.

Attempt any Three questions each from Parts A and

B respectively.

PART A

Attempt any 3 questions : (3x10=30)

Patriarchy is a system that can only be maintained by

violence. Do you agree? Discuss with the help of two

suitable examples.
P.T.0.
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3]

Lh

2

Discuss how, in Vandana Shiva’s view, ecologica]

justice and feminine autonomy are interconnected.

Dalit women’s labours and contribution tq
feminist work in India is often erased. Discuss

with the help of any two prescribed texts from your

course.

How does marriage affect Indian women’s economic
rights? Discuss in light of the prescribed essay by

Flavia Agnes.

Dowry as an evil persists despite laws against it.
Discuss the changes necessary in society for dowry

culture to be uprooted.

PART B

Attempt any 3 questions : (3x15=45)

Women are forced by patriarchal pressure to

follow restrictive gender roles. Discuss three such
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e |

10.

3

restrictive roles contemporary Indian women are faced

with.

Compare and contrast the respective experiences
outlined in the prescribed parts of Rassundari
Devi and Baby Kamble’s autobiographies to

understand the connection between caste and

gender.

Baven depicts the' narrow space available to
women faced with multiple forms of exclusion.

Discuss with close reference to the prescribed

1ext.

What are the salient features of the Protection of
Women from Domestic Violence Act (2005)? Discuss,
with close reference to the provisions of the act,

whether it provides adequate protections against

domestic violence.

Partition violence as experienced by women shows

that in times of communal conflict, women are

P.T.O.
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subjected to violence because they are seen as objects

whose owners can be “dishonoured”. Discuss ip

relation to texts you have. studied as part of this

course.

(400)
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Name of the Department: Department of Economics
Name of the course: CABCS (Economics) G & 2 G OP

Name of the paper: Introductory Macroeconomics 1)
Semester: |
Unique Paper Code: 12275201.0C

(SET-B)

Attempt any four Questions

FE AR UN ET I

Q1. (a) How is national savings estimated? Explain the uses of private savings?

(B) Why do three methods of national income accounting yield same measure of GDP?
Explain

(c) From the following information, calculate GDP, Private Disposable Income and Private
Savings:

Consumption= 4500
Compensation of Employees= 6300

Rental Income of Persons=600
Proprietor’s Income=900

Corporate Profits=700

Net Interest= 400

Indirect Business Taxes= 500
Consumption of Fixed Capital= 1000
Transfers received from Government=350

interest Payment on Government Debt= 200

Direct Taxes= 700 (6.75, 6,6)
Q1. (30) PTG TEE BT AT H T A @2 P wwa & sumh gan

(@) TEY 31g F@IFA F FH adb! § Fhol W IR $1 Y g =Y 0 Wi gl 2
il

g%ﬁ@aamﬂﬁ,m@m.mmmmﬁﬁﬁmaﬁm

Ut = 4500



i B HHTAET = 6300
3 @1 AR B G = 60
RIE B 3TG=900

FURC T = 700
TS & = 400
SUIE TUTIR FX = 500
3=l Oofl & Whd = 1000
TWHR § U RARUI=350
TERI B W & T = 200

UTE DY - 700 (6.75, 6,6)
2. (a) Explain how equilibrium is determined in the money market. What happens to the
equilibrium rate of interest in the following situations? Use suitable diagram.

. Increase in nominal income
il Increase in money supply

(b) In a country, the velocity of money is constant. Real GDP grows by 5% per year, the

money stock grows by 14% per year and the nominal interest rate is 11 %. What is the real
interest rate? Also, state the Fisher Effect.
(c ) What is High Powered Money

? To what extent does High Powered Money affect the
Money Supply in an economy?

(8,4,6.75)

Q2 ;mﬂm%wwﬁﬁwﬁmmaﬂ%lmﬁuﬁﬁﬁ
SITS 1 T IR BT T g 82 IUGd YT BT WG B |

L TEEE B s H gfg
ii. & BT 7yt A 3P

(%) 0 X 7 08 B i RR B | areaifies wever e e 4 Rl a 5o @I gfg gt 2,
ARV o8- 14% Ui a8 @1 91 B & oM A B s T 110 | aRAfd® & ax
w%?ma.wmmmmm;

mjﬁménﬁm%?aﬁfmaéwmﬂwmmﬁ &1 g
nfad BT B2 (8,4,6.75) S S e

Q3. (a) Comment on the following statements. Justify your answer.

The Inflation Tax

} 3 is always equal to seigniorage.
" Anincrease in the . 5

rate of interest leads to an increase in the price of bonds.



b
(b) Suppose a bond pays $1000 i

i. Calculate the pri
Y ¢ the price of the bo d when i :
il. What \ nd when interest rate is 3%
will be rate of interest if the price of bond i?i_‘rﬁﬁa:l?dié};/a
L -

n ONnc ycar,

(c ) Explain the impact of hyperinflation on

dea s the economy? Do — N o
th, or a stabilization program is required : es hyperinflation di€ 2 naturitl

» Provide elements & costs of such programs
(5,5,8.73

Q3. (anﬁgﬁrfﬁaamfﬂmf?mﬂaﬁl 37U AT @1 :amwmi}frﬁm'ﬁ'

. Eilﬂf;“a Eﬁ'\’ E-'T}Y"uscigniuragc ¥ SER Bl {

i. maﬂq@%ﬁaﬁﬁnﬁﬂq@ﬁ?ﬁél

{mmmﬁwﬁ%waﬁﬁsmc mgnmmal
| o 2T 5% AN merbsﬁtrn’f%aﬂaﬂwa IO} D3
fi.aﬂaﬁﬁmsseomsaoﬁaﬁmmwa‘fﬁ?

mmhzammaﬁqzmﬁ%asmﬁwﬁ?waﬁwwﬂﬁwwﬁa‘
g%.mw@mmﬁmma?@mﬁmmmw
I

Q4. (a) Explain » hether a new environmental protection law that requires firms 10 reduce
their emissions of pollutants (an exogenous event) will shift the short run aggregalc supply or
aggregate demand. What are the policy options available for the macroecanomist working
with the government 10 minimize effect of these events on the economy”’ Explain using
suitable diagram.

(b) The following \nformation pertains 108 classical macroeconomic model.

Real outpul = 2000

Money stock = 800

|ncome velocity of money = 23

. What are the aggregate demand and aggregale supply schedules? Roughly sketch them.
ii. 1f the money stock increase 10 1000, how will the schedules shift?

(¢) Explain how “Incom¢ Tax System” works as an “Automatic Stabilizer” (10, 4. 4.73)

oarmwﬂﬁimwﬂmwmmwwmmﬁfﬁmﬂﬁ%
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(3. (a) Explain the effect of investment subsidy on equilibrium interest raie, consumption,

nvestment and GDP. Use suitable diagram. Compare the results with other fiscal policy
MEasures.

(b} Consider the following 15-1.M mode| of income determination:

C =100+ 08Yd
| = 400 - SOI

G = S00
T=025Y
Ma=0.40Y - 501
M* = 1200

}1‘:-.-'

(i) Write down the [S- LM equations. Solve the equilibrium level of income and interest raie.

(1) Find out Budget surplus and saving - investment gap corresponding to equilibrium level
af Income

(114) Derive the fiscal and monetary policy multiplier.

(¢ ). What is Liquidity Trap? Is monetary policy ineffective in this case? (7, 8, 3.75)

Q53 Lmﬁgmwm.m.mmaﬂ@tﬁmﬁﬁmmﬁmaﬂwﬁr
mﬁaﬁ@ﬁmaﬁimmﬁmﬁm#wuﬁmaﬂwﬁn

& amu Puor & PAufaf@d s - Lv Hisd R IR B

C=100+0.8Yd

| - 400 — 501

G =500

T = 0.25Y

M¢ = 0.40Y - 50 i
Mt = 1200

B=

(151 M T AR ST SR ST T & Hqer TR @ 6 B |
1y E HTES 3R T T T @Y - T & e TR & S i o
i T 3R e A o gaw B

| R duam b w T AR A A AR smvrd R2 (7, 8, 3.75)

N

()6, (¢) What do you understand by Policy mix? [n an economy, illustrate the effects of a

policy mix on equilibrium output and interest rate.



(b) Exarp;
mi : , : 3 0
assumptiol:[:»tht 'MPpact of a contractionary fiscal policy on output & interest rate under o

! Interest rates are kept constant
i,

Money stock is kept constant

(€) Explain the important steps in the working of the transmission mechanism. (7.7.4.75)

Q6. (3) M forsron @ 3 e wmverd &7 uap oyforareun 7, v g SR SIS G
TR Brsrwr & st v

. @)
) amﬁ%mmmmmmwwwmﬁm
Y HY-

L TR P RR@ T
i. I =i R a2

() TR0 43 & ST YA B TeAyul <Rl F S | (7,7.4.75)




SI. No. of the Ques. Paper - 4943

Unique Paper Code - 12035901 B
Name of the Paper - Academic Writing and Composition
Name of the Course | - Generic Elective

Semester 1V

Duration + 3 hours 30 minutes

Maximum Marks A

. All questions are compulsory.
The paper has two parts, A and B. Three questions have to be attempted from each
part.

PART A ‘
Answer any THREE of the following questions in about 200 words cach, Give suitable
examples to illustrate your answers. Each question carries 10 marks. (3X10 = 30)

What is the difference between topic sentence and thesis statement?

Explain critical thinking. Why is it important in academic writing?

Explain the role of synthesis in academic writing by giving sufficient examples.
Explain some stylistic conventions of Academic Writing.

What is the stage of Evaluation in Academic Writing? Explain with examples.

Lo by —

s

PART B

Answer any THREE of the following questions. Each question carries 15 marks.
(3X15 = 45 marks)
6.  Write a summary of the following speech and give ita suitable title. (12+3 =15
marks)

Swimming against the current, women have had to speak louder to get their voices heard. In
the words of Virginia Woolf, they’ve had to create a room of their own. In a social and
political landscape where women are still under-represented, Emma Watson's recent UN ‘He
For She’ speech showed us just how important it is for women to continue to speak up and
speak out, four centuries after Elizabeth | rallied the troops at Tilbury’s battleficld like
Athena reborn.

Based on a series of lectures Woolf delivered at Newnham College and Girton College,
Cambridge University, in October 1928, *A Room Of One’s Own’ has since been heralded as
a feminist manifesto. Her words continue to inspire women in 2015 nearly a century after she
first spoke them. The speech strikes at the heart of patriarchy and argues that without
financial independence and access to education, ideological, social and creative freedom is
out of reach. Virginia knew this truth all too well: her own father believed only boys profited
from schooling. As a result, she didn’t go. Her strength of spirit defied even her own father:
‘Lock up your libraries if you like’, she said, “but there is no gate, no lock, no bolt that you
can set upon the freedom of my mind.’

In November, 1913, just five months after fellow Suffragette Emily Davison stepped in front
of King George V’s horse at the Epsom Derby and suffered fatal injuries, Emmeline

Pankhurst spoke out to the crowds in Connecticut. She was far from home but her fight was a
universal one and her aim was clear: to gather support across the Atlantic. ‘So here am I’, she



dcclat_‘ed_ ‘] come in the intervals of prison appearance. | come after having been imprisoned
four times under t_hf: Caf and Mouse Act”, probably going back to be rearrested as soon as \
set my foot on British soil. I come to ask you to help to win this fight.’

7. Make notes and then paraphrase the following passage. (5+10 =15
Marks)

There are numerous advantages to adult education. Learning after secondary school as a
mature aged student allows adults to develop valuable skills to improve career prospects and
expand their professional knowledge. Developing literacy and numeracy skills in adulthood
also gives individuals a better ability to reach their full potential. Many adult students gain
additional confidence in their academic skills after pursuing adult education.

Finally, adult education teaches students valuable skills that can be put into action in a wide
range of situations. The confidence and aptitude gained with adult education is valuable both

in and out of the workplace.

While the importance of adult education is immense, there are a range of challenges that adult
learners may face. These include the difficulty of balancing education and a full-time career,

which is difficult for people in full-time employment.

Other common challenges include the difficulty of returning to a classroom setting after spending
vears in the workplace. Many adult students also struggle to find the time to pursue education
alongside their obligations at work and at home.

It's important to remember that learning doesn’t necessarily stop when you leave secondary
school or university. ELearning as an adult gives people the chance to make progress in their
career and develop valuable new skills.

From literacy and numeracy to foreign languages, adult education offers a range of great
opportunities to expand your Knowledge and learn new skills to improve your career and develop

self-confidence.

8. The following is the Introduction to an essay. Read it carefully and continue the essay,
writing two body paragraphs and a suitable conclusion. (3XS5=15
marks)

* Physical Education (PE) develops students’ competence and confidence to take part in a
range of physical activities that become a central part of their lives, both in and out of school.
A high-quality PE curriculum enables all students to enjoy and succeed in many kinds of ‘
physical activity. They develop a wide range of skills and the ability to use tactics, strategies
and compositional ideas to perform successfully. When they are performing, they think abofu
what they are doing, they analyse the situation and make decisions. They also reflect on their
own and others’ performances and find ways to improve upon them, As a result, they develop
the confidence to take part in different physical activities and learn about the value of healthy,

active lifestyles.

9. Write an essay on the following Thesis Statement. (15 marks)

“Domestic Violence is not just physical but mental and emotional”



10.  Create a bibliography using the following resources. First use a citation convention 1o
rewrite the details of each source and then arrange the five sources in the correct sequence,

(1045 = 15 marks)

a A Glantz's book The war comes home: Washington's battle against America's
veterans published by University of California Press in 2009.

° The essay ‘Post-traumatic stress and its relationship to physical health functioning in a
sample of Iraq and Afghanistan war veterans sceking post-deployment VA health care’ by
Michael Jakupcak , Jacob Luterek and Stanley Hunt published in the Journal of Nervous and

Mental Disease, Volume 196, on 425-428 in Fall 2008.

® Robert C Evans's "Poe, O'Connor, and the Mystery of the Misfit” published in
Flannery O'Connor Bulletin vol, 25,1997 on pages 1-12.

. The Battle of the Books : History and Literature in the Augustan Age by Josephy M
Levine published in Ithaca by Cornell University Press in 1991.

® John Holloway’s chapter "Dickens and the Symbol" published on the pages 50-63
in the book Dickens 1970 edited by Michael Slater published in London by Chapman Hall in

the year 1970.
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| Your Roll No..ccoarranes
;T'Sr. No. of Question Paper : 1943
- Unique Paper Code . 32355402

Name of the Paper GE-4 Numerical Methods

Generic Elective CBCS
(LOCF)

Name of the Course

Semester 1V

[T.ration : 3 Hours Maximum Marks : 75

Instructions for Candidates

. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt any two parts from each question.

3. All questions are compulsory and carry equal
marks.

(a) Find the interval in which the smallest positive

root of the equation x3 - x — 4 = ( lies. Perform

three iterations of the bisection method to determine

the root of this equation.

P.T.O.
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(b) Perform three iterations of the secant

mﬂhnd :

find a root of the equation xe* = cog 4 by tay,
Pp=0,p =1. ‘

!

(¢) Perform four iterations of the Newton-Raphsgm

!

|
17
starting with the injtja] approximation X, =2,

method to obtain the approximate value of (

(d) Define Floating-point fepresentation, Truncatic

crror, and Global error with examples.

L

order of Convergence ¢
the Regula-Fals; method

(b) Perform three iterations of the bisection method

to find the smallest Positive root of the €quation

X —4x -9 =

(c) Perform three iterations of the method of false

position, to find the fourth root of 32
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3. (a) Generate the forward difference table for the data

M Jo0_[02 |04 [06 [0.8
({012 pas 074 f09 [12

Hence interpolate the values of f{0.1) by using
Gregory Newton forward differences Interpolation

formulae.

(b) Define the average difference operator and the

53\
central difference operator. Prove that u = (1 +-;-) ;

(c) Given the following system of equations
X, x;, + x5 =1
4x, + 3x, = x, =6
3%, + 5x, + 3%, = 4

Perform three iterations of the Gauss-Jacobj
method starting with X = (1,1,1).

(d) Find the unique polynomial of degree 3 or less
such that f(0) = -1, f(1) = 0, f(2) = 15, f(3) = 80
using the Newton interpolation. Interpolate at
x=1.5.

4. (a) Perform three iterations of the Gauss-Seidel

method starting with X©® = (1,1,0) to solve the

B.T:0,
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following system of equations:
10x, + x, + 4x, = 3
X, + 10.‘(2 = 9Ky =23 0

Bx, - 2x2 + lej = 38,

(b) Solve the following system using the Gauss-Jordan
method.

X+y+2z2m='7
X+ 2y +3z=16

X + 3y + 4z = 22,

(¢) Calculate the second order divided difference of

—_—

2 based on the points Xgr Xps X,

(d) Determine the Lagrange form of the interpolating
polynomials for the following data set

X -1 0 1
y=f(x) |5 ' l i

Hence estimate the value of 1.5

5. (a) For the following data, fing (2.3) and ¢

(2.3) by
using Central difference formulas
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[+ h) = f(x;—h)

f'(x) = Sh \
P LOE D 2D + £~ 1)
X 2 2.3 2.6

y=f(x)] 0.6932 | 0.7885 | 0.9556

(b) The following table of values is given :

| -1 1 2 3 4 5 | 7
E

X
y=1x) | 1 [ 16 81 256 | 625 | 2401

Find f'(3) by Richardson Extrapolation with h = 4,

h =2 and h = 1 using the following approximate
formula

fxi+h) = f(x,— h)

f'(x) = T

(c) Find an approximate value of the integral

1
1
!:j dx
o 11X
Using: (i) Tr;aiaezoidal Rule, (i1) Composite

Trapezoidal rule for n = 4.

Also calculate the error in each case.

Pl O

e ——a, i
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(d) Find an approximate value of the integral
S
I = — d
[1 1422 %

Using (i) Simpson’s rule, (ii) Composite Simpson’s
rule for n=6.

Also calculate the error in each case.

(a) Approximate the value of n/4 by using Simpson’s
1/3" rule.

(b) Apply Euler’s method to approximate the solution
of the Initial value Problem (IVP)

3
E;=2+?y, 1 <x<6, y(1)=1, using 5 steps.

(c) Apply Modified Euler’s method to approximate the
solution of the IVP and calculate y(0.3) by using
h=0.1

y
—= =1+xy, 0<x<1, y(0)=2.
x "L 3? y(0)

(d) Use the Midpoint method to approximate the
solution of

dy

— 2x + 3 " 0 = 0

o = Y y(0)

with h=0.1. Determine y(0.2) and y(0.3).

(2000)
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Your Roll No..cccecanenannn

Sr. No. of Question Paper : 3744 A
Unique Paper Code 12033916
Name of the Paper . SEC Applied Gender Studies :

Media Literacies

Name of the Course - ENGLISH
Semester - IV/VI
Duration : 3 hours & 30 minutes Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.

7. Part A and Part B are both compulsory. Attempt
any Three questions each from Parts A and B

respectively.

3. Students with Visual Impairments (VI) attempting the
paper may focus on and address the word text of any

visual narrative.

P,
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2

Part A

Attempt any 3 questions (3!10:30)

Advertisements give us a window into what values
are culturally acceptable. Do you agree? Discuss with

the help of two contemporary advertisements.

What is the Bechdel Test? Why does cinema do so

badly in this test even today?

"I was scared to walk on the road for fear of people
recognizing me. I was worried someone might mock
me while I walked on the road. T was afraid the
police might arrest me. I held back from taking the
bus because I wasn’t sure who I could sit next to.”
Identify the speaker and the context; are these fears
restricted to this person? Discuss with close reference

to the prescribed text.

“Motherhood emerges as far more than a state of
being: it has profound implications ... for personal
identity, one’s place in society, and the very nature of

the self.” Do you agree? Discuss with relation to the
prescribed text.
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How do Dalit women speak differently? Discuss

with close reference to Sharmila Rege’s prescribed

essay.

PART B

Attempt any 3 questions : (3x15=45)

Does mass media play a role in presenting certain
gender roles and sexual stereotypes as “normal™?
Discuss with the help of any three examples, one

each from film, journalism and advertising.

Structures of oppression and discrimination can be
recognized and transformed with the help of critical
media literacies. Do you agree? Discuss with the help

of readings you have done for this course.

How are normative ideas of caste, colorism and
sexuality upheld in media narratives? How can these
be transformed to create more inclusive structures?

Discuss with suitable examples.

How does Unlimited Girls visualise female

suliicetivity? 1)iscuss with close reference to the film.

P.T.O.
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10. Are women's issues suitably covered by news media

(print and television)? Discuss what areas you would

like to see covered differcntl*} and why.
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Your Roll Noi..vmn..
Sr. No. of Question Paper : 3645A A
Unique Paper Code 0 62293406
Name of the Paper : Fundamentals of Remote

Sensing and GPS/GNSS

Name of the Course : BL.A. (Prog.) CBCS
(Admission of 2019), SEC

Semester s N

Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

l. Write your Roll No. on the top immediately on receipt
of this question paper.

I-2

Attempt all questions,
3. All questions carry e¢qual marks.
4. Use of stencil is allowed for drawing outline of maps.

5. Answers may be written either in English or Hindi:

but the same medium should be used

P
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Define remote sensing? Explain different types for
rcmote sensing.

@ @3 @ oofafta = gm dnmw @ A ven @
T Wl
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e

(s

OR

Write notes on the following:

(1) History of Remotec Sensing

(i1) Ground Platform and Aerial Platform

fr=fafgs w oftra =1 3fem

(i) qer waew @ zldeE

(i) Tty e e awE e

What is aerial photography? Explain the gcometry of

acnal photographs with suttable diagrams.

P.T .0
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ama WA w7 wug Wy ) smif wr afe ey

IR HHEIY |

OR

Write notes on the [ollowing:

(1) Geostationary Satellite and Sun-synchronous
Satellite

(1) IRS series .
fr=fafaa w wfire ot R .
(i) fer svoe va @ qerwtes S

(m) 3mdamaa @



S
3645A

glaborat¢ the interaction of EMR With almosphere

OR

Write an essay on LANDSAT Satellite System with
suitable illustration and facts.

iz I9UE YOSl WX I2EWT U 9@l B WG U fAau

I~

"Remote sensing has wider application in land use
studies". Elaborate with suitable examples.

T Fr A ot -ged & snaa A fargs R E
T wfem a@rem W=t

p.T.O.
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OR

. \ ensing in
Discuss the application of remote sc
understanding the land cover of the region.

R wew & o1~ ST W e g g w9eT B T
& AU W)

Explain the relevance of GPS and illustrate any three
uses of GPS in detail.

OR



36454

i

OR

Write notes on the following:

(1) His

tory of Remote Sensing

(11) Ground Platform and Aerial Platform

Fe=afefas w gt = sfem

(i) ey waed @ wldew

(iii) v ST vd ArE T

What i

r

aerial

s aerial photouraphy? lixplain the geometry of

photographs with suitable diagrams.

P.T.0.
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Name of Course: B.A. Programme SEC

Semester VI

Maximum Marks: 75
qurfe : 75

Time: 3.5 Hours
q99 3.5 qU

(Write your Roll No. on the top immediately on receipt of the question paper)

(W%ﬁﬁﬁ%ﬁwﬁ“&mﬁuﬁﬁ;ww T s )

Note: Answers may be written cither in English or in Hindi; but the same medium should be
used throughout the paper.

ﬁwﬁ:wwmmﬁ?ﬁmﬁwﬁﬁﬁ@wﬁvﬁﬁmﬁﬁm#ﬂmﬁmmm
uF & g1 iR,

Answer any five questions

| Discuss the significance of historical documents, rituals and oral traditions in history

wntng.

W%ﬁﬂﬁﬁﬁ@ﬁ*aﬁﬁ?ﬁ,ﬂﬁ-ﬂmﬁaﬁmm%wﬁﬂﬁt

2 What do you understand by Subaltern Studies? How have scholars associated with it

critiqued the existing scholarship and offered new perspective?

ﬁmmﬁumﬁmwmﬁg?aﬁraﬁﬁmﬁ%ﬁmm%mﬁwﬁmﬁw
ﬁgquﬁﬁwﬁﬁmﬁ@

3 How have scholars critically engaged with the various kinds of archival documents.

ﬁﬁ?m%aﬁﬁtﬁﬂmﬁﬁ%wﬁﬁﬁmw#ﬁmmmﬁm
2l

4 In what ways has the colonial archive filtered our reading of history 2 How have scholars in

the late 20th century critically studied these archives?
Wm%mmﬁﬁ%mmﬁﬁﬁmﬁmﬁmmzoﬁﬂ

%ﬁaﬁﬁiﬁﬁ%ﬁaﬁmﬁwmﬂmarwﬁﬁ%mﬁ
5 How have historians engaged with the study of rituals and performance?

gﬁ@wﬁ%ﬁﬁﬁaﬁaﬂwgﬂh%amm%mﬁrwﬁm%?




6 How have anthropologists engaged with the study of rituals practices and performances?
nrafagifAa) (Anthropologists) 3 Hfa-frarsii 3l okt & spurag a1 5 wpR A e
far 2

7 How have oral narratives helped in the recovery and writing of historics?

wtfas srenHl 3 sfagm 1 g T @ e # By s agrar 6 22

8 What do you understand by the Mnemonics of Speech? Discuss its significance in ways

histories have come to be written.
FarfRe stw ofts & sy w7 gued € 2 Rgm e s F a8 & a5 gge f ==t
Fifso

9 Critically examine the Imperial Gazetteer of India or James Todd’s Annales and
Antiquities? .

a1 & Sfifoger TeifEaT (Imperial Gazetteer) a7 579 22 F sfagre 3T {997 (Annales
and Antiquities) FT HHTHTHATcHF TEET HL?

10 Write short notes on any two of the following
(A)Adivasis in Colonial India
(B) Voices from the partition of India
(C) Report on the Census of India, 1901
(D) Subaltern Studics Collective

frafafae # 3 Gt &1 7T wfény feogft fafag

(A) dirafaafars area & sfzardt

(B) #T<d ¥ faramr & swarst

(C) FufrareraTdt s Trgardt sfdsma =+t sfagrasa
(D) HaTEEA =2
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o & sen A W 2
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4. HIURY AR F ITANT @ A 2 |

5. TEUE-TE F1 I AU a1 B 5 v e F e, Afe
@ IR FT AEH U 81 BT AR |

1. (a) How would you interpret the sign and magnitude
of a calculated ‘r’? Consider in particular the

valuesr=0,r= -1 and r = +1, (4)

(b) “Compound interest is an interest on interest”.
Explain this statement by using a suitable

numerical example. (4)

(c) The linear correlation coefficient for the following

data is 0.985658. Interpret the relationship
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between these two variables X and Y on the basis

of the following data. (4.5)
il A B 0
X ¢
2 5 4
4 9 10]
s 1 14
6 14 150
L7l 16 17l
8. | s~

(3r) B I R L o
aﬁﬁ?ﬁﬁﬂﬂﬁﬁr=0,r=—l&ﬂ'{r=+l‘ﬂ
faar & |

(@) “qfe A S WA B T ITH FEHAR
JerEr &Y qEEA A F@ wUA & A T |

(w) FrafaRaa Yo @ fog e weaay ToF 0985658
3 Prffad sifdl & MUR W 7 A W X MY
@ q9 GEy @ ARAT I |

P.T.O.
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hJ

A B C
1 (X Y
2 | s 4_ .
3 8 7
% 9 w “
5 | 12
6 | 14
7 16 j1 _H_

;mr.

' I

_Ea (e~

(a) In addition to RBI data base, which other agencies
bring out the data on macroeconomic aggregates?
Briefly discuss the main features and applications
of such data. (4)

(b) Write the syntax for calculation of skewness in
excel from the following data set and also interpret
the result of skewness found if skewness is
—-0.20435. (4)

Class | A[B|C|D|E|F

Q
o

I
Marks | 78 [ 58 | 98 | 87 | 67| 54 | 34 58 | 80

(¢) (1) Find out the confidence interval and interpret
it using the following data.
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Data
Sample Standard deviation 25.28
Sample mean 43.89
Sample Size 27
Confidence level 95%

(i) What is the level of significance from the

above data?

(iii) Define Type I and Type II error. (4.5)

() @ 2 ¥E B g, W @ I e

i safE Tiied W 3T W § 7 W@ T &
gﬁﬁﬁﬂﬁaﬂaﬂ?aﬂmwﬂ%ﬁiﬁﬁl

(¥) ﬁnﬁrﬁa?r%aﬂz%@%aimﬁﬂaﬁm%%q
fada fod 3R afe @ gE 020435 2 A ThaAE &
aftorw &1 e W & |

ClassABCDEFGHl

Marks | 78 | 58 | 98 | 87 | 67 | 54 34 | 58 | 80

(@) (i) Fvard SIS @ 9aT TG SR feefeEe Se
&1 ITEAT A gEE e & |

P.T.O.
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Data s
- - _-—---
Sample Standard deviation 2528
Sample mean 43.89
Sample Size 27
Confidence level 95%

(i) Iwm st @ woew w1 = o 2
(i) aaqlsﬂrmugﬁaﬁtrﬁw&aﬁ:

3. (a) Explain the Nature and types of data used in social
science research. Discuss the various methods of
analysis of quantitative data. (4)

of use. (4)
Type of Use Percentage o,
Cooking 2%

Cooling 15%
Electronics 9%
Heating 15%
Lighting 132
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Refrigeration 10%
Water Heating 10%
Wet Cleaning 3%

Other 23%

(i) Construct a bar chart, and a pie chart.

(i) Which graphical method do you think is

best for portraying above data?

(¢) Can we compare the standard deviation for both
the following data sets? State how can you
determine the variability of these data sets?

(4.5)
o Ve o S e e s Rl

1 |Student ‘Height (Ct Weight (KG)

2 1 178 65

3| 2 18O 70

4 3. 175 71

s| a4 1w 7

6 | 5 177 73

7] 6 190 79

(1) wrforr e ge@ue ¥ e 3o A EE SR
werRi 5 e X | A 32 & (Ao & fat
FAd T T =

P.T.O.



F WER ZW A sy o I D A o
s @t 2

Type of Use Percentage ¢
Cooking 2% T
Cooling 15% o
Electronics 9% N
Heating 15%

Lighting 13%

Refrigeration 10%

Water Heating 10%

Wet Cleaning 3%

Other 23%
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)

P IRy S M e e T R
1 [Student Height (C? Weight (KG)

2 1 178 65

3 2 180 70

_Li 3 175 71

5_; a 185 72

6 5 177 73

7| 6 190 79

4.  Write short notes on any two of the following :

(a) Methods of data collection
(b) R Studio

(¢) Covariance (12.5)
frafafag ¥ ¥ B @ W dftra Rt fofew

(%) o1 e & AAE

(@) R =

(/) wEwERT

| 5. (a) “A coefficient estimate is statistically significant
at the 10% significance level”. Explain. (4)

(b) What is NPV? What function would be required
to calculate NPV in Excel. (4.5)

P.T.O.
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(¢) Write significance of Boxplot in Excel. (4)

(51) “qa U A 10% ¥Bed & W Hilsmdin vy 3y
wgeaql R werEd |

(&) NPV @1 # 7 vadd A NPV @ WA 7 & foo
far weauer &) amasgaEar e )

(@) vade & atawwic &1 Hed folay |
6. (a) Write the syntax in MS Excel for finding Kurtosis

and also determine the type of Kurtosis of the
following data set. (4)

X 22 26 62 | 54 | 34 | 40 28

(b) Explain the importance of Line diagram and
Histogram. What are the advantages and
disadvantages of using them in data analysis?

(4)

(c) The following table exhibits the relation between
change in temperature and sale of ice-cream. Build
a linear regression equation from given ANOVA
table below. (4.5)

Standard Lower  Upper  Lower Upper
Coefficients Error t Stat P-value  95% 95% 95.0% 95.0%

Intercept  8.050741  4.691719 1715947 0.161314 -4.97556 21.07704 4.97556 21.0770

sale of
ice-
cream 0.000408  B.6E-05 4.749017 0.008977 0.00017 0.000647 0.00017 0.00064
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11

Kurtosis e & fag oo v vada ¥ fidaw fod

ﬁﬁqﬁﬁ%%ﬂ?%KuﬂtlsiﬁiﬁWaﬂﬁ
fAuifea =¥

X 22 26 62 54 | 34 | 40 | 28

(%)

Y s 3R Reum @ wEed @ s @il 3

fasemu ¥ Iqa Suah @R B 9u wEe JR JEAH
27

o arfaE aone A uftader 3R smgawm @ fEl
2 99 Tay w2 9 @ w1 gEEr aifere 4@
as gww@o FfHE 99157 |

Standard Lower  Upper  Lower  Upper

Cocfficients Error t Stat P-value 95% 95% 95.0% 95.0%

Intercept 8.050741  4.691719  1.715947 0.161314 -4.97556 21.07704 4.97556 21.0770

sale of
ice-

cream  0.000408  8.6E-05  4.749017 0.008977 0.00017 0.000647 0.00017 0.00064

7. (a) The file Sedans contains the overall miles per gallon
(MPG) of 2021 midsized sedans : |

32

26 1161 30134 [ 56 48] 28] 44|36 54|20

69

22 133(22]14|38]37]32]|30]45]33]25

(i) Compute mean and median.

(i) Compute the variance, standard deviation,

range, coefficient of variation. (6.5)

P.EO.
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(b) What do you mean by hypothesis? Is it necessy
- & » r
to formulate hypothesis in every research study iy
n

social sciences?

(6)

(31) wgs A A 2021 WA FEHR H WS A FA iy
wf e (gEdsn) mivs 2

32146 | 16| 30|34 |56|48 |28]44|36]54|20
69| 221332214 |38|37[32(3045]33|25

(i) e sk Wit & wUET WX
(i) faror, we faae, Aof, e & o i
AOET FW
(7) Rwew ¥ s F @wER ¥ 7w A G
grE T FEad A IREET AR H A 8 7

8 Write short notes on any twe of the following :
{12:3)

(i) Goodness of Fit R?
(i) Equated Monthly Instalment (EMI)
(iii) OLS Regression Method

e ¥ A Rl @ W A R
(i) fre R2 o 3O

(ii) e it fe (dTAsR)

(iii) oLs faw faf

(1600)



